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CORRECTION of The EXAM — Software engineering

Exercise 01 (3pts)

What are the three essential types of software tests?
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Exercise 02 (12pts)

System Description:

Secondary education in Algeria lasts three years, detailed as follows:

e The study takes place in 3 levels: 1% year, 2" year and the 3™ year (BAC).

e In each level, there are several specialities (the common trunks are also considered specialities).
e For each speciality, there are several modules to study.

e The same module can be studied in several specialities as it can be taught by several teachers.
e Each speciality module has an hourly volume and a coefficient.

e |[n each speciality, there can be one or more classes, and the number of students in each class is
known.

e Each teacher is responsible for a single module if his hourly volume is greater than or equal to
21 hours. Otherwise, a second module will be assigned to him.

e After his registration in the 1% year, a student moves from one level to the advanced level when
he passes his exam (Annual Average > 10.00). Otherwise, he is authorized to repeat the year twice
during his study at high school. If the number of repetitions is greater than 2, he is dismissed.
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1. Design the UML class diagram describing the organization of Algerian high schools.

2. Design the UML state machine diagram describing the behavioural of a student at
high school.



Exercise 03 (5pts)

Say whether the following statements are TRUE or FALSE regarding the Agile method.
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a. In the Agile method, changing requests from customers are encouraged and efficiently

incorporated.

b. Each Agile project includes a customer representative on the team. At the end of each
iteration, he reviews the progress made and re-evaluates the requirements.

c. In the Agile method, the development team size should be small (between 3 and 5
people) to enhance face-to-face communication.

d. Long-term plans are encouraged in the Agile method.

e. The Agile method supports working with documentation.

f. The central principle of the Agile model is the delivery of an increment to the customer
after each Time-box.

g. An agile process focuses more on documentation rather than code development.

h. The Agile method is suitable for big and medium projects.

i. The Agile model adopts Iterative development. Each incremental part is developed over
an iteration.

j- Agile model is the combination of iterative and incremental process models.



Exercise 01:

The three types of tests are:

Unit testing.

Integration Testing.
Validation testing.

Exo 02:
CORRIGE :
The class diagram of the model:
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The state Chart Diagram:
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Exercise 03 (5pts)

Say whether the following statements are TRUE or FALSE [egarding the Agile method.
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a. In the Agile method, changing requests from customers are encouraged and efficiently
incorporated. TRUE

b. Each Agile project includes a customer representative on the team. At the end of each
iteration, he reviews the progress made and re-evaluates the requirements. TRUE

c. In the Agile method, the development team size should be small (between 3 and 5
people) to enhance face-to-face communication. TRUE

d. Long-term plans are encouraged in the Agile method. FALSE

e. The Agile method supports working with documentation. FALSE

f. The central principle of the Agile model is the delivery of an increment to the customer
after each Time-box. TRUE

g. Anagile process focuses more on documentation rather than code development. FALSE

h. The Agile method is suitable for big and medium projects. TRUE

i. The Agile model adopts Iterative development. Each incremental part is developed over
an iteration. TRUE

j- Agile model is the combination of iterative and incremental process models. TRUE



